H & 0l & AHS B Ml A

20258 =0ilah LESIH A= 0t

A SAIHE D
st

Hu: Xzohss

=7 2 (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A= 9,369,638 7,943,759 1,425,879
= 6,275,486
CH 2,000,000
Al 450,200
- 643,952
AEIbset TADREY 2,399,612 4,294,524 A1,894,912
= 14,486
CH 2,000,000
Al 250,200
- 134,926
SAAHE HEXA 129,410 105,270 24,140
CAHE 2te| 129,410 105,270 24,140
201 Ler=23 | 46,460 23,300 23,160
01 At2teltl 46,460 23,300 23,160
A2 11,740
—CAHEOUAMR DR
11,000, 0002 x80%<E 24> 8,800
—IHEHLIHI(S/W) 580,000 *3H 1,740
—ESTHAIHI(S/W) 600, 0002 =24 1,200
O=2g+¢ 10,200
—CAAEREE S
(SS?2a 2
100,000 » 152 +7 3| +80%<ZE 2> 8,400
—TAAEARE LS (ZU2)
50,0002 x 15 +33|x80%<E &> 1,800
OZAlH| 2,520
—CAAHEYRFASZSA
9,000 x5 *70 +xB0U<E 2> 2,520
O=E0ISEZSSe2HS2EEIH|
22,000,000 22,000
202 04l 3,600 3,520 80
01 2LHoIH 3,600 3,520 80
OZAIAHEHERFA0
20,0003 x5 452 +80%<E 2> 3,600
203 HR=AY] 13,950 13,050 900
03 A=A PR FZ| 13,950 13,050 900
O AIALAI P22
12,000, 0002 x90%<E 24> 10,800
OZAHZAI PR
3,500,000 «00%<& &> 3,150
204 APt AH| 65,400 65,400
02 E3g =23l 65,400 65,400
otelgsH(SAIRAE 262018t
50,0002« 100« 122 65,400
FHEE NS A 5,216 72,168 66,952




S ZSAAE D
g NHISE ZTAIHE
Rl FHEFNEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FHEZNEAS XIS 5,216 7,168 A1,952
201 er23 | 2,016 2,048 AZ2
01 At2teltl 2,016 2,048 ANC 4
O34l 2,016
—TADHEAIE RS2 S84
9,000 x4 +702xB0U<E 2> 2,016
202 04| 3,200 5,120 1,920
01 =LHOLI 3,200 5,120 21,920
OF AN AT Z 01|
20,0002 x4 +50 2 xB0U<E &> 3,200
SEHel B2el 2,264,986 4,117,086 1,852,100
= 14,486
CH 2,000,000
Al 250,200
- 300
L HIE RS2l (=) 10,986 11,086 A100
[ 10,886
- 100
201 2= 7,086 7,186 A100
[ 6,986
- 100
01 At2t2ltl 7,086 7,186 A100
Oggt=3ZH| 6,986
—CHHHEXIE M AR el
4,800,000& 4,800
= 4,800
—ANPESSAULEESHE
2,186,000& 2,186
= 2,186
O Mgt E X =S =H| 100
—=ois 50,0002 14t 50
—&tat 50,0002 1= 50
202 04| 3,900 3,900 0
[ 3,900
01 =LHOHI 3,900 3,900 0
O HetHE =0
20,0002 x3& *65 3,900
[ 3,900
N REt P ST A BRI 2 AL (=H]) 4,000 6,000 22,000
= 3,600
Al 200
- 200
301 EtE NS 4,000 6,000 22,000
= 3,600




SA: TAIHED
Mo XSIISE TANY
oelr 2EHe! B EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 200
3 200
14 JIEIE A3 4,000 6,000 2,000
OMNLHE RS HEEH|EEEAY
4,000,000 4,000
ras 3,600
Al 200
3 200
(HES MEH BY2 LAY 2,250,000 4,100,000 1,850,000
CH 2,000,000
Al 250,000
401 AIZHIZL S THY 2,250,000 4,100,000 1,850,000
CH 2,000,000
Al 250,000
01 Al&ZHI 2,250,000 4,100,000 21,850,000
OlISSAM2H XL ANE S MENE L2
A AL 2,250,000,0002 2,250,000
CH 2,000,000
Al 250,000
EHo2 SAGHE TAITHA 6,813,995 3,480,912 3,333,083
2 6,261,000
Al 200,000
2 352,995
SAITHA SrE S & ) 264,435 286,260 N21,825
SAIBH=E A2 13,968 13,972 A4
201 YEr=2 | 7,488 6,672 816
01 AlR2:2IH 7,488 6,672 816
o=2g+e 3,600
—CSATHA B SHLALSH(ZURIE)
150,000 2 * 152 *23] *B0H<E 24> 3,600
OZ24ldl 3,888
—SATHA R AL AR FRIZ A
9,0002 9 60 *BU<E 24> 3,888
202 01| 6,480 6,400 80
01 ZLHOIHI 6,480 6,400 80
OSAITHA = L AL & R =R 04 |
20,000 2 %9 x452 <8< E 24> 6,480
SAITHA SLAR HEAILS 212 250,467 272,288 21,821
101 Q14| 23,275 39,727 16,452
MU IRINZ2ISES 23,275 39,727 16,452
OJIHHZ2Z2XNSE2+CUHEE2EE)
88, 1602 *30L * 121171 2 *80<E 2> 23,275
201 YEr2 Y| 178,629 192,823 A14,19%4
01 AlR2:2IH 68,134 56,500 11,634




2A:

MY ULHOR SAIGH: CAITIA
St SAIHY 245 (1E-) (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oget=Z| 68,134
—SOIAY A AR S AR
330,000 * 121 & 30 2 11,880
—S2IHIEAIE=EE
132,000 *5CH 660
—SWISNBRAGHELE
132,000 1200 & «5CH 7,920
—AYAIMEASSES
220,000 120 B *70H 2 18,480
—AUALRESHYALLR
330,000 *7IH 2 2,310
—&o|etM 2|2
165,000 * 120 B *70H 2~ 13,860
—HARETY
500, 0002 *6IH A x80%<E 2> 2,400
—StEAHIXEES Y
40,0002 * 12JH 2 601 2 +80%<E 28> 2,304
— QHL{ZHE R R A K
5,200, 0002 x2A] *80%<&E 2> 8,320
02 32| 110,495 136,323 N25,828
O3=SZLHA 100,900
=PI
1,500,000 * 124 B x50 2 90,000
—MEAE 23
100,000 * 120 B 54 A~ 6,000
—AMIDXHERNRES
100,000 *143] 1,400
—FASEolildEE =
500,000 7 2 3,500
OAIZEHI R X 9,5%
—2AZ2RXIBI(5E0I0HAEHR BSH=XE)
1,067&*3,296m’ 3,517
—2AERXIBI(5EHO0ISH MASHFLIEIMH)
1,067&*2,793m" 2,981
—AERXIBI(GHOISH MEHN EAAMST2H)
1,067&+413m" 441
—2AZ2RXIBI(5E0IoH/ LB XSS HIE)
1,067&*703m 751
—2AERXIBI(5EHOISH LB A MFILAIS)
1,067&*1,197m 1,278
—2HE2RXBI(5H0I5H LY MM R A2E)
1,067 *587m 627
307 212+01 A 48,563 37,538 11,025
05 QIZtRIEIS 48,563 37,538 11,025
ORLESNGSEHUHZ2Z XA
48,563,000 48,563
CANY 43 (Uss) 6,549,560 3,155,000 3,3%,560
= 6,261,000




SA: TAIHED
M NEH2Z HAote AN
St A 245 (Hes) (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 200,000
T 88,560
ats TAIHY =LA (=HI) 6,102,970 2,790,560 3,312,410
= 6,055,400
- 47,570
401 AlZHIZ S 0HbI 6,102,970 2,790,560 3,312,410
= 6,055,400
- 47,570
01 AlZ2H| 6,086,170 2,768,260 3,317,910
Ot HSH/WAH 6,086,170
—Jgi|2gd 250,000,000 250,000
[ 202,700
- 47,300
—&B0|SHEHXY 5,836,170,000& 5,836,170
= 5,836,170
03 A& CHYI 16,800 12,300 4,500
OUH2HSH/WAHS 16,800
—1gic2gd 1,800,000 1,800
= 1,530
- 270
—30I8dEHxd 15,000,000& 15,000
[ 15,000
Hats TAIMY SSEX28H 23 172,440 166,440 6,000
Al 164,600
- 7,840
101 21AH| 154,800 148,800 6,000
Al 154,800
M IIRIMZZENSES 154,800 148,800 6,000
OJIZtHZ2Z2XNsSE+ 154,800
—dEE(HIA2)
2,800,000« 1H =122 33,600
Al 33,600
—ANS=E(42)
4,500,000« 1H* 122 54,000
Al 54,000
—ZCIUI0IE (&2)
3,900,000 «1H =122 46,800
Al 46,800
—OIS28soHHIAa2)
1,700,0002 x1&* 122 20,400
Al 20,400
201 er23| 17,640 17,640 0
Al 9,800
- 7,840




S ZSAAE D
M NEH2Z HAote AN
SR SAITHA 2E3HEHS) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 14,720 14,720 0
OLer+EH| 6,400
—ANRBETYS
3,000, 0002 80%<& 2> 2,400
Al 1,200
= 1,200
e
5,000,000 «80%<& &> 4,000
Al 2,000
- 2,000
Ogx=z 8,320
—HeHEXE 250,0002 *1CH =43 1,000
S
60,0002 1L =122 720
—SEXNEHEHASE =
550,000 * 12 6,600
Al 6,600
2 35244l 2,920 2,920 0
O=s23gHl 2,920
—Stes 50,0002 128 600
— &Lt R
110,000~ 128 1,320
—XSHHA ST I 1,000,000 1,000
Osts HHEA 22 X2(=341) 31,500 37,000 25,500
= 10,000
Al 20,000
- 1,500
201 =3 9,200 6,000 3,200
= 8,000
T 1,200
01 At2tltl 9,200 6,000 3,200
Oggr=gl 9,200
— 2R LAFESAYS
5,750,000& 5,750
[ 5,000
- 750
—ZANEE2E 2,300,000 2,300
= 2,000
T 300
—HAYXE 1,150,000& 1,150
= 1,000
- 150
301 Eet2 NS 2,300 1,000 1,300
[ 2,000




S ZSAAE D
Hm: NSHOZ HAlSHE TAITA
SR SAITHA 2E3HEHS) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 300
11 #AIAHIXIZ S 2,300 1,000 1,300
Ol zts HH A A AL 2,300
—sSAHIROEIS 2,300,000& 2,300
[ 2,000
- 300
307 elztol & 20,000 30,000 10,000
Al 20,000
03 2 IHE2SHIEX 20,000 30,000 10,000
OltS2eIAMHg ST RIIAEH]
20,000,000 20,000
Al 20,000
sts &=cl A2243H3l) 51,750 27,000 24,750
[ 45,000
- 6,750
201 Ler23 | 23,000 10,000 13,000
= 20,000
T 3,000
01 At2teltl 23,000 10,000 13,000
o9y 23,000
PN TRt
23,000,000 23,000
[ 20,000
- 3,000
307 212+01& 28,750 17,000 11,750
= 25,000
T 3,750
12 22 E W =S| 28,750 17,000 11,750
OOgle|E2deg ottt -8E
28,750,000& 28,750
= 25,000
- 3,750
thets =21 Ag 23H=HI) 52,900 63,000 10,100
[ 46,000
- 6,900
201 2= 17,250 33,000 A15,750
= 15,000
- 2,250
01 At2teltl 5,750 5,000 750
Oggt=3=H| 5,750
—UstAEC|EELEHME
5,750,000& 5,750
[ 5,000
- 750




A SAIHE D
M NEHH2Z ilcle TAINY
el TAIHY 2dsHEs) (S ® )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
03 A2 SHI 11,500 28,000 16,500
OusisEes TR IY2y
11,500,000& 11,500
= 10,000
- 1,500
307 @12t0| & 35,650 30,000 5,650
[ 31,000
- 4,650
04 QIZFHAIAIS B = 23,000 10,000 13,000
Oolzti=g=M=2g 23,000,000 23,000
= 20,000
T 3,000
12 2I2FQI R & = H| 12,650 20,000 AT7,350
OLITHA 0| LA X 2 Z1 2 Z 0131 O
12,650,000 12,650
[ 11,000
- 1,650
sts SAITHAHE 22 (=24I) 52,900 21,000 31,900
= 46,000
- 6,900
201 er2 3| 52,900 1,000 51,900
s 46,000
- 6,900
01 AfR22lH| 52,900 1,000 51,900
OLersgH| 52,900
— LA LNRBBTYS
6,900,000& 6,900
[ 6,000
- 900
—CAHY S 2EES
46,000,000 46,000
= 40,000
- 6,000
sts =IZ2AY F=X(=HI) 34,500 30,000 4,500
[ 30,000
- 4,500
307 21201 & 34,500 30,000 4,500
[ 30,000
- 4,500
02 QIIHAANSEE R 34,500 30,000 4,500
Ol sts=eS2AY 34,500,000 34,500
s 30,000
T 4,500
Oats 4t 2UEHE & JIStAY 50,600 20,000 30,600




S ZSAAE D
Hm: NSHOZ HAlSHE TAITA
St A 245 (Hes) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 28,600
Al 15,400
- 6,600
201 fer=3| 50,600 0 50,600
[ 28,600
Al 15,400
- 6,600
01 At 22|l 50,600 0 50,600
OdUtRLIHEHI IS 50,600
— I ISSNEES 25,300,000& 25,300
[ 14,300
Al 7,700
- 3,300
—SAITH OISO B A I & 2
25,300,000 25,300
= 14,300
Al 7,700
- 3,300
HY2AIHI(SAIHED) 156,031 168,323 N12,292
el 2| 131,770 131,457 313
el 2a| 131,770 46,290 85,480
101 @124H| 131,770 46,290 85,480
01 &2 72,274 42,672 29,602
OEEEERN
11,6022 x 18 #35A 2Hx 122 1. 03+80%<E 2>
72,274
02 JIet& 2= 59,49%6 3,618 55,878
OARIIRRLH(BALE)
10,8212 x 1 +3BA| 2H+ 122+ 1. 03+B0U<E 2>
3,745
OAZEHAIINAS 47,250
—gs 3,462,584 1H 1200 & 41,552
— MM &I 41,551,000 *3% 1,247
—dgs 42,798, 0003 »130%*8% 4,451
OAZHHSL I Hl2g 8,501
SRR
10,4162 * 12 +30Al 2tx 1200 2 *1.03+80% 3,090
—JiESY 840
i EON; 40,0002 =1+ 12042 480
UPNE 30,0003 1E* 12002 360
— NG 140,000« 1= 1201 = 1,680
—Ag2xH|
180,000+ 1 #1294 2 +35/40 1,890
—CItE &I
3,462, 5843 18 »84%+86%+12/30 1,001




SA SAIHED
M HYRAZHI(ZAIHEDL)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H| 24,261 36,866 12,606
Jl=23H] 24,261 21,484 2,777
201 er23| 13,930 11,993 1,937
01 At2teltl 13,930 11,993 1,937
OEICIES=T] 7,800
—2 gL
10,400, 0003 +75%<& 2> 7,800
OZAlHI 3,456
—RAeHRETISAY)
9,000 x20 & x24 2 +80%<E 2> 3,456
Ogxz 2,674
—&dUEAD LR =
105,000 *1CH* 122 1,260
—d=0|eRz 67,9003 1L =122 815
—3J188JI8x=
49,9002 x1CH* 12 539
202 048l 2,831 2,591 240
01 2L A 2,831 2,591 240
OFAAHEE =N
97,4003 4 3L 22| x80%<E 2> 1,871
ORNSgERFTO|
20,0003 x20 2«32 «80%<E 2> 960
203 HRP=H] 7,500 6,900 600
01 V22 HRFa| 3,300 3,300 0
OIA2ELRFNH(ZAIAE =)
3,300,000 3,300
04 PAE2EERFAH 4,200 3,600 600
ORMEZE =2
350,000& * 122 4,200




